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Wi (X4 A il (kg) (m?) (m?) (AK) (&) (kg) (m”) (m?) (kg)
mEry | R mprsy | o migrdv | MR mpruv R meruv | ME meruvy | ME @y | R mgrv | MR mgndy | K&
Hom - &A1 2. 308 2.3/ 8.590 8.6 2 2 4. 411 4.4 0.848 0.8
Bom - AW 1 2. 308 2.3/ 8.590 8.6 2 2 4.411 4.4 0.848 0.8
W e 2 1. 559 3.1 6.290 12.6 1 2 2. 708 5.4 0.577 1.2
CI W AW 2 1. 559 3.1 6.290 12.6 1 2 2.708 5.4 0.577 1.2
BRI AR 1 1. 129 1.1 5.940 5.9 2 2 2. 098 2.1 0.369 0.4
BRI AW 1 1. 129 1.1 5.940 5.9 2 2 2. 098 2.1 0.369 0.4
it 8 13.0 54. 2 12 23.8 4.8
Bom - W A 4 129 516 2.308 9.2 8.590  34.4 9 36 2 8 4.411| 17.6 0.848 3.4 13 172
Bom - AW 3 129 387 2.308 6.9 8.590  25.8 9 27 2 6 4.411)  13.2 0.848 2.5 43 129
W A 2 87 174 1.559 3.1 6.290 12.6 6 12 1 2 2.708 5.4 0.577 1.2 22 44
CII-b W AW 1 87 87  1.559 1.6 6.290 6.3 6 6 1 1 2. 708 2.7 0.577 0.6 22 22
PN 2 4 129 516 1.129 4.5 5.940  23.8 5 20 2 8 2. 098 8.4 0.369 1.5 60 240
HEFR A 4 129 516 1.129 4.5 5.940  23.8 5 20 2 8 2. 098 8.4 0.369 1.5 60 240
7t 18 2196 29. 8 126. 7 121 33 55. 7 10.7 847
CII-L e A 2 88 176 2.288 4.6 7.427 14.9 6 12 1 2 2. 708 5.4 0.821 1.6 31 62
B - W 1 108 108 2.776 2.8 8.847 8.8 9. 9 2 2 4.463 4.5 0.843 0.8 137 137
ey A 2 73 146 1.925 3.9/ 6.633  13.3 6 12 1 2 2.724 5.4 0.576 1.2 69 138
DI-b e A 2 73 146 1.925 3.9 6.633 13.3 6 12 1 2 2.724 5.4 0.576 1.2 69 138
PR A 1 108 108 1.501 1.5  6.440 6.4 7 7 2 2 2. 111 2.1 0.369 0.4 154 154
7t 6 508 12.1 41.8 40 8 17.4 3.6 567
DI-b-S Hei@ - A 1 108 108 2.776 2.8 8.847 8.8 9 9 2 2 4. 463 4.5 0.843 0.8 137 137
Dllla Bom - AW 1 145 145 4.092 4.1 9.968  10.0 8 8 3 3 58 58 4.463 4.5 0.994 1.0 467 467
el Em 110 110, 3.014 3.0 7.844 7.8 9 9 2 2 44 44, 2.724 2.7 0.699 0.7 312 312
DIla-s WS 2l 1 110 110 2.623 2.6/ 8.056 8.1 7 7 2 2 59 59| 2.111 2.1 0.443 0.4 347 347
MBS | A4 1 1. 280 1.3 -0.096  -0.1
it 3 220 5.6 15.9 16 4 103 6.1 1.0 659
aFt 72.0
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T 0.300| 0.300, 0.300| 0.300| 0.350
t 0.100| 0.100, 0.150| 0.150| 0.250
Ad1 0.982| 0.982 1.133| 1.133| 1.488
Ld1 2.350| 2.350| 2.450| 2.450| 2.750
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8 i T CI [ COb|DI-bDI-bS Dia
"R I Q T | 0.300] 0.300] 0.300] 0.300] 0.350
“ER: t | 0.100] 0.100] 0.150] 0.150] 0.250
B = Pios  owssm Acl | 0.674] 0.674] 0.674] 0.674] 0.711
I Tl N e e e Ail | 0.463] 0.463] 0.466] 0.466] 0.466
Ai2 | 0.297] 0.297] 0.300] 0.300] 0.300
Lol | 2. 150] 2.150] 2. 150] 2.150] 2.250
\ Wi | 0.202] 0.292] 0.292] 0.292] 0.292
W2 | 0.120] 0.120] 0.120] 0.120] 0.120
W3 | 0.263] 0.263] 0.293] 0.293] 0.293
Wae | 0.207| 0.207| 0.207] 0.207| 0.207
W5 | 0.075 0.075] 0.075| 0.075] 0.075
W6 | 0.223] 0.223] 0.253] 0.253] 0.253




- Wi C 1 T 0. 300
t 0. 100
e Hl B T M z2
Adl  0.982 Acl | 0.674] Ai1 | 0.463] Lil = 0.850] W1 = 0.292| HI1 1.270
Ad2 Ac2 Ai2  0.297| Li2  0.700] W2 | 0.120] H2  0.380
Ad3 Ac3 Ai3 Li3 W3 0.263] H3 | 0.700
Ad4 Ac4 Ai4d Li4 W4 0.207] H4 | 0.950
Ldl  2.350| Lcl @ 2.150] Ai5 Li5 W5 | 0.075| H5
Ld2 Lc2 Ai6 W6 | 0.223| Leirl
Ld3 Le3 W7 Leir2
L.d4 Lc4 W Leir3
Li = HN%EERE H=HN%5
Al

V = 0.982 X 2.350

BwBTarr7Y—Fh
V= 0.674 X 2.150 — ( 0.463 X 0.850 + 0.297 X 0.700 )
= 1.449 — 0.601
Witz 7Y —k t = 0.100

A= ( 2.308 — 1.449 ) / 0.100

I
A= ( 0.292 + 1.270 + 0.120 + 0.380 + 0.263 ) X 0.850
4+ ( 0.207 4+ 0.700 4+ 0.075 + 0.950 + 0.223 ) X 0.700
+ 0.463 X 2
7y 7 AV b
N = + 2
(fifiok) (FHTE%
7L— b
Wi
AT T T
= +
(F14H) Gt A - JESHR)
HZR 1 7] W
N:
&% W
W= -

(Hii5d) (¥EBR)

2.308 m?®/f& AT

0.848 m?/f& T

8.590 m?/f& T

4,411 m?/f&T

2 /&P

kg/ & AT

kg/ & AT

&P/ &

kg/ & T



- i CII-Db T 0. 300
t 0. 100
G| BT N z=
Adl | 0.982 Acl = 0.674| Ail  0.463| Lil  0.850] w1 = 0.292] HI 1.270
Ad2 Ac2 Ai2 | 0.297| Li2 @ 0.700] W2 | 0.120] H2 0. 380
Ad3 Ac3 Ai3 Li3 W3 | 0.263] H3 0. 700
Ad4 Acd Ai4 Li4 W4 | 0.207| H4 0. 950
Ldl | 2.350] Lel | 2.150[ Ai5 Li5 W5 | 0.075| H5
Ld2 Lc2 Ai6 W6 | 0.223| Leirl
Ld3 Le3 W7 Leir2
Ld4 Lc4 W8 Leir3
Li = HNZ%&EE H=»HN%m
i HI
V = 0.982 X 2.350 = 2.308 m®/f&AT

R =/ Il N
V= 0.674 X 2.150 — ( 0.463 X 0.850 + 0.297 X 0.700 )
= 1.449 — 0.601
Witz 7Y —k t = 0.100

A= ( 2.308 — 1.449 ) / 0.100

LU
A= ( 0.292 + 1.270 + 0.120 + 0.380 + 0.263 ) X 0.850
4+ ( 0.207 + 0.700 + 0.075 + 0.950 + 0.223 ) X 0.700
+ 0.463 X 2
7y 7 RV b
N = 3 + 6
(fi5®) (FHTE%
7L— b
AT T
W= 33 + 10
(F14H) Gt - JES AR
HZR i) 7]
N:
&% W
W: J—
(flio8) (JEB%)

. 848 m*/ & FT

.590 m?*/ & FT

C411 m?/ T

9 A/ & PT

129 kg/ @ PT

43 kg/ & PT

2 &/ T

kg/ & T



- DI-b , DI-b-S T 0. 300
t 0. 150
e Hl B T M z2
Adl  1.133| Acl | 0.674] Ai1 | 0.466] Lil = 0.850] W1 = 0.292| H1 1.270
Ad2 Ac2 Ai2  0.300[ Li2 @ 0.700] W2 | 0.120] H2  0.380
Ad3 Ac3 Ai3 Li3 | W3 0.293] H3 | 0.700
Ad4 Ac4 Ai4d Li4 | W4 0.207] H4 | 0.950
Ldl  2.450 Lcl @ 2.150] Ai5 Li5 W5 | 0.075| H5
Ld2 Lc2 Ai6 _ W6 | 0.253| Leirl
Ld3 Le3 _ W7 Leir2
L.d4 Lc4 W Leir3
Li = HN%EERE H=HN%5
Al

V = 1.133 X 2.450

BwBTarr7Y—Fh
V= 0.674 X 2.150 — ( 0.466 X 0.850 + 0.300 X 0.700 )
= 1.449 — 0.606
Witz 27—k t = 0.150

A= ( 2.776 — 1.449 ) / 0.150

I
A= ( 0.292 + 1.270 + 0.120 + 0.380 + 0.293 ) X 0.850
4+ ( 0.207 4+ 0.700 4+ 0.075 + 0.950 + 0.253 ) X 0.700
+ 0.466 X 2
7y 7 AV b
N = 3 + 6
(fifiok) (FHTE%
7L— b
W:
AT T
W= 116 + 21
(H ) Gt T - JESHR)
HZR 1 7] W
N:
&% W
W= -

(Hii5d) (¥EBR)

2. 776 m?®/ & AT

0.843 m?/f& T

8. 847 m?/fE T

4. 463 m?/fET

9 A/ & FT

108 kg/ Pt

137 kg/ & PT

2 &/ e

kg/ & T



- Wi DIla T 0. 350
t 0. 250
e Hl B T M z2
Adl  1.488| Acl | 0.711| Ail1 | 0.466] Lil = 0.850] W1 = 0.292| H1 1.270
Ad2 Ac2 Ai2  0.300[ Li2  0.700] W2 | 0.120] H2  0.380
Ad3 Ac3 Ai3 Li3 | W3 0.293] H3 | 0.700
Ad4 Ac4 Ai4d Li4 | W4 0.207] H4 | 0.950
Ldl  2.750| Lcl @ 2.250] Ai5 Li5 | W5 | 0.075| H5
Ld2 Lc2 Ai6 _ W6 | 0.253| Leirl
Ld3 Le3 _ W7 Leir2
L.d4 Lc4 W Leir3
Li = HN%EERE H=HN%5
Al

V = 1.488 X 2.750

BwBTarr7Y—Fh
V= 0.711 X 2.250 — ( 0.466 X 0.850 + 0.300 X 0.700 )
= 1.600 — 0.606
Witz 70—k t = 0.250

A= ( 4.092 — 1.600 ) / 0.250

I
A= ( 0.292 + 1.270 + 0.120 + 0.380 + 0.293 ) X 0.850
+ ( 0.207 4+ 0.700 + 0.075 + 0.950 + 0.253 ) X 0.700
+ 0.466 X 2
7y 7 AV b
N = 4 + 4
(fifiok) (FHTE%
7L— b
W:
AT T
W= 387 + 80
(H ) Gt T - JESHR)
HZR 1 7] W
N:
&% W
W= 140 — 82

(Hii5d) (¥EBR)

4.092 m®/f&ir

0.994 m?/f& T

9.968 m?/f& T

4. 463 m?/fET

8 A/ & FT

145 kg/ Pt

467 kg/ M PT

3 &/ T

58 kg/f& HT
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CI CO-b| DI-b|Dma-S| CO-L
T 0.300| 0.300| 0.300]| 0.350| 0.400
t 0.100| 0.100| 0.150| 0.250| 0.150
Ad1 0.846| 0.846| 1.001| 1.406| 1.105
Ad2 0.136| 0.136| 0.133| 0.082| 0.089
Acl 0.569| 0.569| 0.569| 0.603| 0.638
Ac2 0.105| 0.105| 0.105| 0.108| 0.101
Ail 0.373| 0.373| 0.373]| 0.373| 0.373
Ai2 0.090| 0.090| 0.092| 0.092| 0.090
Ld1 1.650| 1.650| 1.750| 2.050| 1.950
Ld2 1.200| 1.200| 1.300| 1.600| 1.500
Lcl 1.450| 1.450| 1.450| 1.550| 1.650
Lc2 1.000| 1.000| 1.000| 1.100| 1.200
Wi 0.292| 0.292| 0.292| 0.292| 0.292
W2 0.332| 0.332] 0.332]| 0.332]| 0.332
W3 0.212| 0.212] 0.212]| 0.212| 0.212
W4 0.263| 0.263| 0.293| 0.293| 0.263




- Wri C 1 T 0. 300
t 0.100
I Al B L N 7z
Adl | 0.846| Acl = 0.569| Ail | 0.373] Lil | 0.850] W1 0.292| Hl1 1. 270
Ad2  0.136] Ac2 | 0.105| Ai2 | 0.090| Li2 = 0.400| w2 | 0.332 H2 0. 380
Ad3 Ac3 Ai3 Li3 W3 | 0.212| H3
Ad4 Ac4 Aid Li4 W4 | 0.263| H4
Ldl  1.650| Lel | 1.450| Ai5 Li5 W5 H5
Ld2 | 1.200 Lc2 | 1.000| Ai6 We Leirl
L.d3 Le3 W7 Leir2
1.d4 Lc4 W8 Lcir3
Li = HNZ%&EE H=HN%5
Al
V = 0.846 X 1.650 4+ 0.136 X 1.200 = 1.559 m*/f&FT
BwBTarr7Y—Fh
V= 0.569 X 1.450 + 0.105 X 1.000 — ( 0.373 X 0.850 + 0.090
X 0.400 )
= 0.930 — 0.353 = 0.577 m*/f&FT
Witz 7Y —k t = 0.100
A= ( 1.559 — 0.930 ) / 0.100 = 6.290 m*/ &
I
A= ( 0.292 + 1.270 + 0.332 ) X 0.850 + ( 0.380 + 0.263
— 0.212 ) X 0.400 + ( 0.373 + 0.090 ) X 2 = 2.708 m?*/f&FT
7y 7 AV b
N = + 1 = 1 K/ &EPT
(fifiok) (FHTE%
7L — b
= = kg/ & P
AT T
W= + = kg/ & Pt
(H &) Gt A - JEEHR)
HRU S 7
N = = & A/ & T
&% W
W= — = kg/ & Pt
(filioh) (#E5R)



- Wrm CII-b T 0. 300
t 0.100
I Al B L N 7z
Adl | 0.846| Acl = 0.569| Ail | 0.373] Lil | 0.850] W1 0.292| Hl1 1. 270
Ad2 | 0.136] Ac2 | 0.105| Ai2 | 0.090] Li2 | 0.400| w2 = 0.332] H2 0. 380
Ad3 Ac3 Ai3 Li3 W3 | 0.212| H3
Ad4 Ac4 Aid Li4 W4 | 0.263] H4
Ldl  1.650| Lel | 1.450| Ai5 Li5 W5 H5
Ld2 | 1.200 Lc2 | 1.000| Ai6 We Leirl
L.d3 Le3 W7 Leir2
1.d4 Lc4 W8 Lcir3
Li = HNZ%&EE H=HN%5
Al
V = 0.846 X 1.650 4+ 0.136 X 1.200 = 1.559 m*/f&FT
BTayvr7VY—Fh
V= 0.569 X 1.450 + 0.105 X 1.000 — ( 0.373 X 0.850 + 0.090
X 0.400 )
= 0.930 — 0.353 = 0.577 m*/f&FT
Witz 7Y —k t = 0.100
A= ( 1.559 — 0.930 ) / 0.100 = 6.290 m*/ &
I
A= ( 0.292 + 1.270 + 0.332 ) X 0.850 + ( 0.380 + 0.263
— 0.212 ) 0. 400 (0.373 + 0.090 ) X 2 = 2.708 m?*/f&FT
7y 7 AV b
N= 2 + 4 = 6 A/ TE T
(fifiok) (FHTE%
7L — b
= = 87 kg/f& T
AT T
W= 17 + 5 = 22 kg/EPT
(H &) Gt - JES AR
HRU S 7
N = = INGVASERD
&% W
W= — = kg/ & Pt
(filioh) (#E5R)



- Wrm CI-L T 0. 400
t 0. 150
I Al B L N 7z
Adl | 1.105| Acl | 0.638] Ail | 0.373] Lil | 0.850| W1 0.292| H1 1. 270
Ad2  0.089| Ac2 | 0.101| Ai2 | 0.090| Li2 @ 0.400| w2 | 0.332 H2 0. 380
Ad3 Ac3 Ai3 Li3 W3 | 0.212| H3
Ad4 Ac4 Aid Li4 W4 | 0.263| H4
Ldl  1.950| Lel | 1.650| Ai5 Li5 W5 H5
Ld2 | 1.500 Lc2 | 1.200] Ai6 We Leirl
L.d3 Le3 W7 Leir2
1.d4 Lc4 W8 Leir3
Li = HNZ%&EE H=HN%5
Al
V= 1.105 X 1.950 4+ 0.089 X 1.500 = 2.288 m*/f&fT
BwBTarr7Y—Fh
V= 0.638 X 1.650 + 0.101 X 1.200 — ( 0.373 X 0.850 + 0.090
X 0.400 )
= 1.174 — 0.353 = 0.821 m*/f&FT
Witz 27—k t = 0.150
A= ( 2.288 — 1.174 ) / 0.150 = 7.427 m*/ &R
I
A= ( 0.292 + 1.270 + 0.332 ) X 0.850 + ( 0.380 + 0.263
— 0.212 ) 0. 400 ( 0.373 + 0.090 ) X 2 = 2.708 m?*/f&FT
7y 7 AV b
N= 2 + 4 = 6 A/ TE T
(fifiok) (FHTE%
7L — b
= = 88 kg/f& T
AT T
W= 27 + 4 = 31 kg/ i HT
(H &) Gt - JES AR
HRU S 7
N = = INGVASERD
&% W
W= — = kg/ & Pt
(filioh) (#E5R)



- Wrm DI -b T 0. 300
t 0. 150
I Al B L N 7z
Adl | 1.001| Acl = 0.569| Ail | 0.373] Lil | 0.850] Wit 0.292| H1 1. 270
Ad2  0.133] Ac2 | 0.105| Ai2 | 0.092| Li2 @ 0.400| w2 | 0.332 H2 0. 380
Ad3 Ac3 Ai3 Li3 W3 0.212| H3
Ad4 Ac4 Aid Li4 W4 | 0.293| H4
Ldl  1.750| Lel | 1.450| Ai5 Li5 W5 H5
Ld2 | 1.300[ Lc2 | 1.000| Ai6 We Leirl
L.d3 Le3 W7 Leir2
1.d4 Lc4 W8 Lcir3
Li = HNZ%&EE H=HN%5
Al
V= 1.001 X 1.750 4+ 0.133 X 1.300 = 1.925 m*/f&AT
BTayvr7VY—Fh
V= 0.569 X 1.450 + 0.105 X 1.000 — ( 0.373 X 0.850 + 0.092
X 0.400 )
= 0.930 — 0.354 = 0.576 m®/f&FT
Witz 27—k t = 0.150
A= ( 1.925 — 0.930 ) / 0.150 = 6.633 m¥ &
I
A= ( 0.292 + 1.270 + 0.332 ) X 0.850 + ( 0.380 + 0.293
— 0.212 ) 0. 400 (0.373 + 0.092 ) X 2 = 2.724 m*/f&FT
7y 7 AV b
N= 2 + 4 = 6 A/ TE T
(fifiok) (FHTE%
7L — b
= = 73 ke/fE T
AT T
W= 58 + 11 = 69 kg/ T
(H &) Gt - JES AR
HRU S 7
N = = INGVASERD
&% W
W= — = kg/ & Pt
(filioh) (#E5R)



- i DIMa-S T 0. 350
t 0. 250
I Al B L N 7z
Adl | 1.406| Acl | 0.603] Ail = 0.373] Lil | 0.850| W1 0.292 H1 1. 270
Ad2 | 0.082] Ac2 | 0.108| Ai2 = 0.092| Li2 | 0.400] W2 | 0.332| H2 0. 380
Ad3 Ac3 Ai3 Li3 W3 | 0.212| H3
Ad4 Ac4 Aid Li4 W4 | 0.293| H4
Ldl | 2.050| Lel | 1.550| Ai5 Li5 W5 H5
Ld2 | 1.600[ Lc2 @ 1.100f Ai6 W6 Leirl
Ld3 Lc3 W7 Leir2
Ld4 Lcd W8 Lcird
Li = HNZ%&EE H=HN%5
Al
V = 1.406 X 2.050 4+ 0.082 X 1.600 = 3.014 m*/f&fT
BwBTarr7Y—Fh
V= 0.603 X 1.550 + 0.108 X 1.100 — ( 0.373 X 0.850 + 0.092
X 0.400 )
= 1.053 — 0.354 = 0.699 m®/ AT
Witz 70—k t = 0.250
A= ( 3.014 — 1.053 ) / 0.250 = 7.844 m*/ &R
I
A= ( 0.292 + 1.270 + 0.332 ) X 0.850 + ( 0.380 + 0.293
— 0.212 ) X 0.400 + ( 0.373 + 0.092 ) X 2 = 2.724 m*/f&FT
7y 7 AV b
N= 3 + 6 = 9 A/fEHT
(fifiok) (FHTE%
7L — b
= = 110 kg/ B PT
AT T
W= 258 + 54 = 312 kg/ & iT
(H &) Gt - JES AR
HRU S 7
N = = 2 &/ ST
g
W= 89 — 45 = 44 kg/ & PT
(filioh) (#E5R)



(3) W

1 Al
1-1MWE
s
2
3
%
Ad1 N
: 1150
. Wi S.L :
A :_% A}
o & T _,ﬁ
2 i=2. 0% 2ESE
s ] iz‘_Evm_ﬁLm
0
Ad2
& i
1-1M®E
£
’%\\{%
Aol A \
o |
877 / Ail 41 7
x OE:E Ai2 x
g & : Leirl
= =2 0% EEEBE |
{B 8 = 2 Bl

A - A BrmE
Ld1
tT. 1400 1+
: =} =
L =
f 1
Lcl
m
t7 1400 1+
s
SL et :
iy Al
gl &
8 -—
TEESE —
® g 5
t| 160 |t
i
[
B - B Brm
Ld2
It 150 +
T ’r
1 = L
R = T P -
| |
Lc2
CI CI-b| DI-b|DIMa-S
T 0.300| 0.300| 0.300| 0.350
it 0.100| 0.100| 0.150| 0.250
Ad1 0.394| 0.394| 0.501| 0.795
Ad2 0.276| 0.276| 0.332| 0.412
Acl 0.212| 0.212| 0.212| 0.232
Ac2 0.148| 0.148| 0.148| 0.143
Ail 0.101| 0.101| 0.101| 0.101
Ai2 0.161| 0.161| 0.164| 0.164
Ld1 2.200| 2.200| 2.300| 2.600
Ld2 0.950| 0.950| 1.050| 1.350
Lcl 2.000| 2.000| 2.000| 2.100
Lc2 0.750| 0.750| 0.750| 0.850
Wi 0.202| 0.202| 0.202| 0.202
W2 0.150| 0.150| 0.150| 0.150
W3 0.100| 0.100| 0.100| 0.100
W4 0.102| 0.102| 0.120| 0.120
Lcirlt | 1.608| 1.608| 1.633| 1.633




- Wi C 1 T1 0. 300

T2 0. 100
G ELl| B T N z=
Adl | 0.394| Acl = 0.212| Ail  0.101| Lil = 1.400[ w1 = 0.202] HI 0. 600
Ad2 | 0.276 Ac2 = 0.148| Ai2 = 0.161| Li2 = 0.150] w2 | 0.150] H2 1. 600
Ad3 Ac3 Ai3 Li3 W3 | 0.100| H3
Ad4 Ac4 Ai4 Li4 W4 | 0.102| H4
Ldl | 2.200[ Lel = 2.000| Ai5 Li5 W5 H5
Ld2 | 0.950| Lc2 | 0.750 Ai6 W6 Leirl  1.608
Ld3 Le3 W7 Leir2
Ld4 Lc4 W8 Leir3
Li = HN%EERE H=HN%5
i HI
V= 0.394 X 2.200 + 0.276 X 0.950 = 1.129 m®/f&pT
Blay/rl)—hk
V= 0.212 X 2.000 + 0.148 X 0.750 — ( 0.101 X 1.400 + 0.161
X 0.150 )
= 0.535 — 0.166 = 0.369 m®/f&Ar
Wt 27—k t = 0.100
A= ( 1.129 — 0.535 ) / 0.100 = 5.940 m?/f&7T

I
A= ( 0.202 + 0.600 + 0.150 ) X 1.400 + ( 1.608 + 0.102
— 0.100 ) X 0.150 + ( 0.101 + 0.161 ) X 2 = 2.098 m*/f&FT
7y 7 AV b
N = + 2 = 2 A/TE T
(fifiok) (FHTE%
7L — b
= = kg/ & P
AT T
W= + = kg/ & Pt
(H &) Gt - JES AR
HRU S 7
N = = & A/ & T
&% W
W= - = kg/ & Pt

(Hii5d) (¥EBR)



- Wrm CII-b T1 0. 300

T2 0.100
I Al B L N 7z
Adl | 0.394| Acl = 0.212| Ai1 | 0.101] Lil | 1.400f W1 0.202| H1 0. 600
Ad2 | 0.276| Ac2 | 0.148| Ai2 | 0.161] Li2 | 0.150] w2 @ 0.150| H2 1. 600
Ad3 Ac3 Ai3 Li3 W3 | 0.100| H3
Ad4 Ac4 Aid Li4 W4 | 0.102| H4
Ldl  2.200] Lel | 2.000| Ai5 Li5 W5 H5
Ld2 | 0.950[ Lc2 | 0.750] Ai6 We Leirl  1.608
L.d3 Le3 W7 Leir2
1.d4 Lc4 W8 Leir3
Li = HNZ%&EE H=HN%5
Al
V= 0.394 X 2.200 + 0.276 X 0.950 = 1.129 m*/f&fr
BwBTarr7Y—Fh
V= 0.212 X 2.000 + 0.148 X 0.750 — ( 0.101 X 1.400 + 0.161
X 0.150 )
= 0.535 — 0.166 = 0.369 m®/ AT
Witz 7Y —k t = 0.100
A= ( 1.129 — 0.535 ) / 0.100 = 5.940 m*/ &R
I
A= ( 0.202 + 0.600 + 0.150 ) X 1.400 + ( 1.608 + 0.102
— 0.100 ) X 0.150 + ( 0.101 + 0.161 ) X 2 = 2.098 m*/f&FT
=R/ NN
N= 3 + 2 = 5 A/ TE T
(fifiok) (FHTE%
7L — b
= = 129 kg/fPT
AT T
W= 50 + 10 = 60 kg/ T
(H &) Gt A - JEEHR)
HRU S 7
N = = 2 &/ S AT
&% W
W= — = kg/ & Pt

(Hii5d) (¥EBR)



- Wrmm D1 -b T1 0. 300

T2 0. 150
G ELl| B T N z=
Adl | 0.501| Acl = 0.212| Ail  0.101| Lil = 1.400f w1 = 0.202] HI 0. 600
Ad2 | 0.332| Ac2 @ 0.148| Ai2 = 0.164| Li2 = 0.150] w2 | 0.150] H2 1. 600
Ad3 Ac3 Ai3 Li3 W3 | 0.100| H3
Ad4 Ac4 Ai4 Li4 W4 | 0.120| H4
Ldl | 2.300[ Lel = 2.000| Ai5 Li5 W5 H5
Ld2 | 1.050] Lc2 | 0.750 Ai6 W6 Leirl  1.633
Ld3 Le3 W7 Leir2
Ld4 Lc4 W8 Leir3
Li = HN%EERE H=HN%5
i HI
V= 0.501 X 2.300 + 0.332 X 1.050 = 1.501 m®/f&PT
Blay/rl)—hk
V= 0.212 X 2.000 + 0.148 X 0.750 — ( 0.101 X 1.400 + 0.164
X 0.150 )
= 0.535 — 0.166 = 0.369 m®/f&Ar
Wtz 27U—hK t = 0.150
A= ( 1.501 — 0.535 ) / 0.150 = 6.440 m?/f&7T

I
A= ( 0.202 + 0.600 + 0.150 ) X 1.400 + ( 1.633 + 0.120
— 0.100 ) X 0.150 + ( 0.101 + 0.164 ) X 2 = 2.111 m*/f&pT
7y 7 AV b
N= 3 + 4 = (VAT
(fifiok) (FHTE%
7L — b
_ = 108 kg/f&HT
AT T
W= 133 + 21 = 154 kg/f&PT
(H &) Gt - JES AR
HRU S 7
N = = 2 &/ S AT
&% W
W= - = kg/ & Pt

(Hii5d) (¥EBR)



- Wrim DIa-S T1 0. 350

T2 0. 250
I Al B L N 7z
Adl  0.795| Acl = 0.232| Ail | 0.101] Lil | 1.400f w1 0.202| H1 0. 600
Ad2 | 0.412| Ac2  0.143| Ai2 @ 0.164| Li2 = 0.150] W2  0.150[ H2 1. 600
Ad3 Ac3 Ai3 Li3 W3 | 0.100| H3
Ad4 Ac4 Aid Li4 W4 | 0.120| H4
Ldl  2.600| Lel | 2.100| Ai5 Li5 W5 H5
Ld2 | 1.350[ Lc2 | 0.850| Ai6 | We Leirl  1.633
L.d3 Le3 _ W7 Leir2
1.d4 Lc4 W8 Lcir3
Li = HNZ%&EE H=HN%5
Al
V= 0.795 X 2.600 + 0.412 X 1.350 = 2.623 m*/f&fAT
BwBTarr7Y—Fh
V= 0.232 X 2.100 + 0.143 X 0.850 — ( 0.101 X 1.400 + 0.164
X 0.150 )
= 0.609 — 0.166 = 0.443 m®/#FT
Witz 70—k t = 0.250
A= ( 2.623 — 0.609 ) / 0.250 = 8.056 m*/ &
I
A= ( 0.202 + 0.600 + 0.150 ) X 1.400 + ( 1.633 + 0.120
— 0.100 ) X 0.150 + ( 0.101 + 0.164 ) X 2 = 2.111 m*/f&pT
7y 7 AV b
N= 3 + 4 = (VAT
(fifiok) (FHTE%
7L — b
= = 110 kg/ B PT
AT T
W= 293 + 54 = 347 kg/ T
(H &) Gt - JES AR
HRU S 7
N = = 2 &/ ST
g
W= 03 — 34 = 59 kg/ &P

(Hii5d) (¥EBR)



(4) PFEBASZ B

P dsal WO 2 3 | =T ¥

350250

., T, S |
[} oo A N N x5 |
Lo | oo |
K -

(DHIVE 42x2
L=6.0m

5000

HIVE 42x2

[
\ \ \ \ - -
VEESE 2. 0%

s i=2
= JF.H 11 i=1. 500% i=1.500%

=
1

BIar s — MERR
V= 0.200 X 0.400 X ( 0.600 -+ 0.600 )

= 0.080 X 1.200 =

o

A= ( 0.200 + 0.400 + 0.200 ) X ( 0.600 + 0.600 )

+ 0.080 X 2 X 2

S
W

H

131 — 5 -
() (FEFR)

0.096 m®/f& AT

1. 280 m?*/ T

126 kg/ &Pl



